
Citizenship 

I. Select the write answer in the following multiple choice questions

Question 1. 
Select the right purpose of citizenship from the followings. 
(a) To segregate the people on the basis of their status. 
(b) To give the people full and equal membership of the political community. 
(c) To make the people to perform their duties. 
(d) None of the above.

Answer

Answer: (b) To give the people full and equal membership of the political community.

Question 2. 
In which year French Revolution took place? 
(a) 1875 
(b) 1789 
(c) 1688 
(d) 1917

Answer

Answer: (b) 1789.

Question 3. 
T.H. Marshall belonged to which country? 
(a) U.S.A 
(b) France 
(c) Britain 
(d) Germany

Answer

Answer: (c) Britain.

II. Fill in the blanks with suitable word

Question 1. 
Citizenship provides full and equal ……………. of the political community.

Answer

Answer: Membership

Question 2. 
Art. 21 of the Indian Constitution provides right of ……………..



Answer

Answer: Life and liberty

Question 3. 
…………… part of Indian Constitution has the provision about citizenship.

Answer

Answer: 3rd

Question 4. 
Citizenship …………………. the political community.

Answer

Answer: Integrate

Question 5. 
Civil, political and ……………………….. rights are important for citizenship.

Answer

Answer: Social.

III. Select the right and wrong answers from the following

Question 1. 
Citizen is one who can take, part in the affairs of state in responsible way.

Answer

Answer: Right

Question 2. 
Citizenship makes distinction among the people.

Answer

Answer: Wrong

Question 3. 
T.H. Marshall was a British sociologist.

Answer

Answer: Right

Question 4. 
India is liberal, democratic and secular state.



Answer

Answer: Right

Question 5. 
Apartheid prevailed in South Africa.

Answer

Answer: Right

Question 6. 
The idea of global citizenship is the result of increasing^ means of communication.

Answer

Answer: Right

Question 7. 
Citizenship makes people irresponsible.

Answer

Answer: Wrong

Question 8. 
Right of education is a social right.

Answer

Answer: Right

Question 9. 
Indian Constitution provides right of life under Art. 21.

Answer

Answer: Right

Question 10. 
In India citizenship is given on the basis of religion.

Answer

Answer: Wrong

IV. Matching Questions

Column A Column B



1. Apartheid a. Nationality

2. Group of people of same race, history, culture 
and geography and traditions b. Political right

3. Weaker sections of Indian society c. Racial discrimination.

4. Right to participate in process of Governance d. SCs, STs and Women

5. N.G.O e. Non-Governmental 
Organisation

Answer

Answer:

Column A Column B

1. Apartheid c. Racial discrimination.

2. Group of people of same race, history, culture 
and geography and traditions a. Nationality

3. Weaker sections of Indian society d. SCs, STs and Women

4. Right to participate in process of Governance b. Political right

5. N.G.O e. Non-Governmental 
Organisation


